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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['1I", "lopt’], ['T, "Topt’], ['RH', 'RHopt'], ['ETcl’, 'optETcl’], 'LAl', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AE_E1
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P6AE
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FRAE NS KIFHIREC 2288.0
LRGERIEC (1894.0) 5HREIZEY (2290) RER K, BHEE.
ERGERPH (7.1) 5i&8EE (5.5) REKKX, FHE.
LORGEBIPH (7.1) 5#EEEI (5.5) REK K, BRE.
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